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MIXTURE BASED QUESTIONS

1. Two vessels are full of milk with milk-
water ratios 1 : 4 and 3 : 8, respectively.
If both are mixed in the ratio   3 : 2, what
is the ratio of milk and water in the new
mixture?

nks crZu nw/ vkSj ikuh ls Øe'k% 1 % 4 vkSj 
3 % 8 ds vuqikr esa Hkjs gq, gSaA ;fn nksuksa dks 3 % 2 ds
vuqikr esa feyk;k tkrk gS] rks u, feJ.k esa nw/
vkSj ikuh dk vuqikr D;k gksxk\
(a) 4 : 15 (b) 3 : 7

(c) 63 : 212 (d) N.O.T

2. Two mixtures contain milk and water in
the ratios 3 : 2 and 4 : 5. How many litres
of the second mixture must be mixed
with 3 litres of the first mixture so that
the new mixture thus formed contain
equal quantities of milk and water?

nks feJ.kksa esa nw/ vkSj ikuh dk vuqikr 3 % 2 vkSj
4 % 5 gSA nwljs feJ.k dh fdrus yhVj ek=kk dks igys
feJ.k dh 3 yhVj ek=kk ls feyk;k tk, rkfd çkIr
u, feJ.k esa nw/ vkSj ikuh dh ek=kk leku gks\
(a) 5 ltr (b) 5.4 ltr

(c) 5.5 ltr (d) 6 ltr

3. The milk and water in two vessels A and
B are in the ratio 4 : 3 and 2 : 3
respectively. In what ratio, the liquids in
both the vessels be mixed to obtain a new
mixture in vessel C containing half milk
and half water?

nks crZu A vkSj B esa nw/ vkSj ikuh dk vuqikr
Øe’k% 4 % 3 vkSj 2 % 3 gSA vk/k nw/ vkSj vk/k
ikuh okys crZu B esa ,d u;k feJ.k çkIr djus ds
fy, nksuksa crZuksa esa rjy inkFkZ dks fdl vuqikr esa
feyk;k tkrk gS\
(a) 7 : 5 (b) 5 : 2

(c) 3 :  11 (d) 1 : 2

4. In two blends of mixed tea, the ratios of
Darjeeling and Assam tea are 4 : 7 and
2 : 5. The ratio in which these two blends
should be mixed to get the ratio of
Darjeeling and Assam tea in the new
mixture as 6 : 13 is

fefJr pk; ds nks feJ.kksa esa nkftZfyax vkSj vle
pk; dk vuqikr 4 % 7 vkSj 2 % 5 gSA bu nksuksa feJ.kksa

ALLIGATION (,yhxs'ku)
(CLASSROOM SHEET)

dks fdl vuqikr esa feyk;k tkuk pkfg, rkfd u,
feJ.k esa nkftZfyax vkSj vle pk; dk vuqikr 6 % 13
gks tk,A gS

(SSC CGL Tier-II Exam, 2014 12.04.2015

(a) 22 : 35 (b) 26 : 35

(c) 35 : 78 (d) 13 : 22

5. Acid and water are mixed in a vessel A
in the ratio of 5 : 2 and in the vessel B
in the ratio 8 : 5. In what proportion
should quantities be taken out from the
two vessels so as to form a mixture in
which the acid and water will be in the
ratio of 9 : 4?

,d crZu A esa 5 % 2 ds vuqikr esa ,flM vkSj ikuh
feyk;k tkrk gS vkSj crZu B esa  8 % 5 ds vuqikr esa
feyk;k tkrk gSA nksuksa crZuksa ls fdl vuqikr esa ek=kk
fudkyuh pkfg, rkfd ,d feJ.k cu tk, ftlesa
,flM gks vkSj ikuh 9 % 4 ds vuqikr esa gksxk\

SSC CHSL, DEO & LDC Exam (04.12.2011)

(a) 7 : 2 (b) 2 : 7

(c) 7 : 4 (d) 2 : 3

6. Solution A contains 10% acid and
solution B contains 30% acid. In what
ratio should solution A be mixed with
Solution B to obtain a mixture with 25%
acid?

feJ.k A esa 10» ,flM gS rFkk feJ.k B esa 30»
,flM gSA feJ.k A dks feJ.k B ds lkFk fdl vuqikr
esa feyk;k tk, fd feJ.k esa 25» ,flM izkIr gks tk,\

CGL Mains 2018

(a) 1 : 2 (b) 3 : 1

(c) 1 : 3 (d) 2 : 1

7. Two alloys are both made up of copper
and tin. The ratio of copper and tin in the
first alloy is 1 : 3 and in the second alloy
is 2 : 5. In what ratio should the two
alloys be mixed to obtain a new alloy in
which the ratio of tin and copper be 8 : 3?

nks feJ/krq,a nksuksa rkacs vkSj fVu ls cuh gSaA igyh
feJ/krq esa rkacs vkSj fVu dk vuqikr 1 % 3 gS vkSj
nwljh feJ /krq esa 2 % 5 gSA ,d ubZ feJ/krq çkIr
djus ds fy, nksuksa feJ/krqvksa dks fdl vuqikr esa
feyk;k tkuk pkfg, ftlesa fVu vkSj rkacs dk vuqikr
8 % 3 gks\
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(SSC CHSL DEO & LDC Exam. (27.10.2013)

(a) 3 : 5 (b) 4 : 7

(c) 3 : 8 (d) 5 : 11

8. The ratio of two liquids in a mixture is
3 : 5 and that in another mixture is 6 : 1.
The ratio in which these two mixtures
should be mixed so as to make the ratio
of the liquids 7 : 3 is

,d feJ.k esa nks æoksa dk vuqikr 3 % 5 gS vkSj
nwljs feJ.k esa 6 % 1 gSA bu nksuksa feJ.kksa dks fdl
vuqikr esa feyk;k tkuk pkfg, rkfd æoksa dk vuqikr
7 % 3 gks tk,

(CGL Tier-II Exam, 2014 12.04.2015

(a) 44 : 71

(b) 44 : 81

(c) 44 : 91

(d) 44 : 61

9. In an alloy 80% is copper and remaining
is tin. In another alloy, copper is 85% and
tin is 12%. In what ratio should the two
alloy be mixed so that the new mixture
must have 15% tin. Also find the
percentage  of copper in the new mixture?

,d feJ/krq esa 80» dkWij vkSj 'ks"k fVu gSA nwljh
feJ/krq esa 85» dkWij vkSj 12» fVu gSA bu nksuksa
feJ/krqvksa dk vuqikr D;k gksuk pkfg, fd u;s feJ.k
esa 15» fVu gks rFkk ;g Hkh irk djsa fd u;s feJ.k
esa dkWij fdrus izfr'kr gSa\
(a) 3 : 5

(b) 5 : 3

(c) 2 : 3

(d) 3 : 4

10. If a dairy mixes cow’s milk which
contains 10% fat with buffalo’s milk

which contains 20% fat, then the

resulting mixture has fat 
120

%
7

 of fat.

What ratio was the cow’s milk mixed with

buffalo’s milk?

dksbZ Ms;jh xk; dk nw/ ftlesa olk (iQSV) dk izfr'kr
10» gS] rks HkSal ds nw/ ds lkFk feykrh gSa ftlesa
20» olk gS rks ifj.kkeh feJ.k eas olk] olk dk
120

%
7

 gksrk gSA xk; dk nw/ fdl vuqikr esa

HkSal ds nw/ ds lkFk feyk;k x;k\
CGL Mains 2018

(a) 2 : 5

(b) 1 : 5

(c) 2 : 3

(d) 2 : 1

11. 40 litres of a mixture of milk and water
contains 10% of water, the amount of
water to be added, to make the water
content 20% in the new mixture is :

40 yhVj okys nw/ vkSj ikuh ds feJ.k esa 10»
ikuh gSA fdl ek=kk esa ikuh feyk;s ftlls u;s feJ.k
esa 20» ikuh gks\
(a) 6 litre (b) 6.5 litre

(c) 5.5 litre (d) 5 litre

12. 300 gram of sugar solution has 40% of
sugar in it. How much sugar should be
added to make it 50% in the solution?

300 xzke phuh ds ?kksy esa 40 izfr'kr phuh gSA blesa
fdruh phuh vkSj feykbZ tkuh pkfg, ftlls og bl
?kksy dk 50 izfr'kr gks tk,\
(a) 60 gms (b) 80 gms

(c) 10 gms (d) 40 gms

13. An alloy contains copper and tin the ratio
3 : 2. If 250 gm of copper is added to this
alloy then the copper in it becomes
double the quantity of tin in it. What is
the amount (in gms) of tin in the alloy?

,d feJ/krq esa rkacs vkSj fVu dk vuqikr  3 % 2
gSA ;fn bl feJ/krq esa 250 xzke rkack feyk fn;k
tkrk gS rks blesa mifLFkr rkack blesa mifLFkr fVu
dh ek=kk dk nksxquk gks tkrk gSA bl feJ/krq esa fVu
fdruh ek=kk (xzke esa) gS\

CGL Mains 2018

(a) 250 (b) 750

(c) 1000 (d) 500

14. A jar full of 60 litres syrup contains 40%
honey. A part of this syrup is replaced by
another containing 19% of honey and now
ratio of honey and other would be 13 : 37.
Find the quantity syrup is replaced.

60 yhVj flji ls Hkjs tkj esa 40» 'kgn gSA bl
flji dk ,d fgLlk nwljs fgLls ls cny fn;k tkrk
gS ftlesa 19» 'kgn gS vkSj vc 'kgn vkSj vU; dk
vuqikr 13 % 37 gksxkA flji dh cnyh ek=kk Kkr djsaA
(a) 40 (b) 45

(c) 35 (d) 80

15. A jar full of 70 litres syrup contains 50%
honey. A part of this syrup is replaced by
another containing 29% of honey and now
ratio of honey and other would be 8 : 25.
Find the quantity syrup is replaced.

70 yhVj flji ls Hkjs tkj esa 50» 'kgn gSA bl
flji dk ,d fgLlk nwljs fgLls ls cny fn;k tkrk
gS ftlesa 29» 'kgn gS vkSj vc 'kgn vkSj vU; dk
vuqikr 8 % 25 gksxkA flji dh cnyh ek=kk Kkr djsaA
(a) 10 (b) 50

(c) 60 (d) 80
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PROFIT AND LOSS

BASED QUESTIONS.

16. In what ratio should coffee powder
costing ` 2500/kg be mixed with coffee
powder costing ` 1500/kg so that the cost
of the mixture is ` 2250/kg?

dkWiQh ikmMj ftldh dher ` 2500 izfr fdxzk gSa]
dks fdl vuqikr esa ` 1500 izfr fdxzk dher okys
dkWiQh ikmMj ds lkFk feyk;k tk, fd feJ.k dh
dher  ` 2250 izfr fdxzk gks tk,\
(a) 1 : 4 (b) 4 : 1

(c) 3 : 1 (d) 1 : 3

17. In what ratio, sugar costing ` 60 per kg
be mixed with sugar costing ` 42 per kg
such that by selling the mixture at ` 56
per kg there is a gain of 12%?

` 60 çfr fdxzk- okyh phuh dks ` 42 çfr fdxzk-
okyh phuh esa fdl vuqikr esa fefJr fd;k tk,
ftlls fd fefJr phuh dks ` 56 çfr fdxzk- ds ewY;
esa cspus ij 12» dk ykHk çkIr gks lds\

(a) 5 : 7 (b) 8 : 9

(c) 5 : 6 (d) 4 : 5

18. How many kg of salt costing ` 28 per kg
must be mixed with 39.6 kg of salt
costing ` 16 per kg, so that selling the
mixture at ` 29.90, there is a gain of
15%?

` 16 çfr fdxzk ewY; ds 39-6 fdxzk ued esa ` 28
çfr fdxzk ewY; dk fdrus fdxzk ued feyk;k tk,
ftlls fd feJ.k dks ` 29-90 dh nj ij cspus ij
15» dk ykHk gks\

CGL Tier-II (2019)

(a) 198 (b) 133

(c) 132 (d) 135

19. A student bought 10 pencils and 8 pens
at ` 150 . He sells pencil at 4% profit and
pen at 7% profit. Overall he gains ` 9.
Find the cost price of each pencil and
pen.

,d Nk=k us  ` 150 esa 10 isafly vkSj 8 isu •jhnsA
og isafly dks 4» ykHk ij vkSj isu dks 7» ykHk
ij csprk gSA dqy feykdj mls ` 9 dk ykHk gksrk
gSA çR;sd isafly vkSj isu dk Ø; ewY; Kkr dhft,A

CGL Tier-II (2019)

(a) 3, 6

(b) 5, 10.5

(c) 5, 12.5

(d) 3, 6

20. A shopkeeper bought one type of rice at
` 12 per kg and other type at ` 16.25 per
kg. After mixing both types of rice he
fixed the cost of mixture as ` 14.75 per
kg. if the total quantity of the rice be 85
kg, find the quantity of first type of rice.

,d O;kikjh ,d çdkj ds pkoy tks fd ` 12 çfr
fdxzk gS vkSj nwljs çdkj ds pkoy tks fd ` 16-25
çfr fdxzk •jhnrk gSA mlds ckn og mu nksuksa dks
feykdj mudk ewY; ` 14-75 çfr fdxzk fuf'pr djrk
gSA ;fn pkoy dh dqy ek=kk 85 fdxzk gks] rks igys
çdkj ds pkoy dh ek=kk Kkr djsa\
(a) 55 kg (b) 30 kg

(c) 35 kg (d) 40kg

21. A shopkeeper have 65 kg daal , he sell one
part at 8% profit and sell other part to
18% profit. In overall business he gain
14%, than find the quantity of rice that
is sell on 8% profit .

,d nqdkunkj ds ikl 65 fdxzk- nky gS mles ls
dqN fgLls dks og 8» ykHk ij rFkk ‘ks”k dks og
18» ykHk ij csprk gSA iwjs O;kikj esa mls 14» ykHk
çkIr~ gksrk gSA 8» ykHk ij csph xbZ nky dh ek=kk
Kkr djsa A
(a) 39 kg (b) 26 kg

(c) 18 kg (d) 32 kg

DISCOUNT BASED QUESTIONS

22. A seller sells 2 watches at 8% and 15%
discount each. Total marked price of both
the items are ` 2100 . Find the difference
between marked price of both items, if
total discount is of 12%.

,d foØsrk 2 ?kfM+;k¡ 8» vkSj 15» NwV ij csprk
gSA nksuksa oLrqvksa dk dqy vafdr ewY; ` 2100 gSA
;fn dqy NwV 12» gS] rks nksuksa oLrqvksa ds vafdr
ewY; ds chp dk varj Kkr dhft,A

CGL Tier II (2019)

(a) 360 (b) 300

(c) 500 (d) 200

SIMPLE INTEREST BASED

QUESTIONS

23. Harish is having ` 40,000 . He deposited
it in 2 banks. Interest given by 1st bank
is 9.5% per annum and that of 2nd bank
is 5.5% per annum. If at t  he end of a
year Harish got ` 3200. Then find the
difference of the balance amount
deposited in both banks?
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gjh'k ds ikl ` 40]000 gSaA mlus bls 2 cSadksa esa
tek dj fn;kA igys cSad }kjk fn;k x;k C;kt
9-5» çfr o"kZ gS vkSj nwljs cSad dk 5-5» çfr o"kZ
gSA ;fn ,d o"kZ ds var esa gjh'k dks ` 3200 feyrs
gSaA rks nksuksa cSadksa esa tek 'ks"k jkf'k dk varj Kkr
dhft,\
(a) ` 36000 (b) ` 30000

(c) ` 10000 (d) ` 20000

24. A sum of ` 12,800 is invested partly at
15% per annum and the remaining at
12% per annum simple interest. If the
total interest at the end of 3 years is
` 5085. Then how much money was
invested at 15% per annum.

` 12]800 dh ,d jkf'k va'kr% 15» izfr o"kZ rFkk
va'kr% 12» izfr o"kZ lk/kj.k C;kt ij fuos'k dh
tkrh gSA ;fn 3 o"kZ ds var esa dqy C;kt ` 5]085
gS] rks 15» izfr o"kZ ij fdruh jkf'k fuos'k dh x;h
Fkh\

SSC CPO 12 March 2019

(a) ` 5200 (b) ` 7500

(c) ` 5800 (d) ` 5300

25. A person lends some amount of ` 8400 to
the rate of 12% and at some at rate of
21%. If the interest earned in the last
three year is ` 3906, then how much
money did they get at the rate of 21%?

,d O;fDr ` 8400 dh jkf'k esa ls dqN jkf'k 12»
dh nj ij vkSj dqN jkf'k 21» dh nj ij m/kj
nsrk gSA ;fn dqy rhu o"kZ esa C;kt ` 3960 feyk
gks] rks 21» dh nj ls mUgsa fdruk /u C;kt ds :Ik
esa feyk\
(a) 2712 (b) 1848

(c) 936 (d) 2058

26. A sum of ` 15,000 is invested partly at
12% per annum and the remaining at
10% per annum simple interest. If the
total interest at the end of 2 years is
` 3,344, how much money was invested
at 10% per annum?

` 15]000 dh ,d jkf'k dk dqN Hkkx 12» izfr o"kZ
rFkk 'ks"k Hkkx 10» izfr o"kZ lkèkkj.k C;kt ij fuos'k
fd;k tkrk gSA ;fn 2 o"kks± ds var esa dqy C;kt
` 3]344 gS] rks 10» izfr o"kZ dh nj ls fdruh
jkf'k fuos'k dh xbZ Fkh\

SSC CPO 12 March 2019 (Morning)

(a) ` 6,200

(b) ` 6,600

(c) ` 6,400

(d) ` 6,500

27. A sum of ` 15,600 is invested partly at
7% per annum and the remaining at 9%
per annum simple interest. If the total
interest at the end of 3 years is ` 3738,
how much money was invested at 7% per
annum?

` 15]600 dh jkf'k vkaf'kd :i ls 7» izfr o"kZ
vkSj 'ks"k 9» izfr o"kZ lk/kj.k C;kt ij fuos'k dh
tkrh gSA ;fn 3 o"kks± ds var esa dqy C;kt ` 3738
gS] rks izfr o"kZ 7» ij fdruk /u fuos'k fd;k x;k
Fkk\
(a) ` 7800 (b) ` 7900

(c) ` 7600 (d) ` 7700

28. A sum of ` 10,200 is invested partly at 8%
per annum and remaining at 6% per
annum for 3 years at simple interest. If
the total interest is ` 2,124, how much
money was invested at 6% per annum?

` 10]200 dh ,d jkf'k 3 o"kks± ds fy, va'kr% 8»
izfro"kZ vkSj 'ks"k 6» izfr o"kZ lk/kj.k C;kt dh nj
ls fuos'k dh tkrh gSA ;fn dqy C;kt ` 2124 gS]
rks 6» izfro"kZ ij fdruh jkf'k fuos'k dh xbZ Fkh\

SSC CPO 13 March 2019 (Evening)

(a) ` 4900 (b) ` 5200

(c) ` 4800 (d) ` 5400

29. A man has ` 10,000. He lent a part of it
at 15% simple interest and the remaining
at 10% simple interest. The total interest
he received after 5 years amounted to
` 6,500. The difference between the parts
of the amounts he lent is :

,d O;fDr ds ikl ` 10]000 gSaA mlus blds ,d
fgLls dks 15» lk/kj.k C;kt rFkk 'ks"k fgLls dks
10» lk/kj.k C;kt ij m/kj ns fn;kA 5 o"kks± ckn
mls dqy ` 6]500 lk/kj.k C;kt izkIr gqvkA mlds
}kjk m/kj nh xbZ jkf'k;ksa dk varj gS %

SSC CHSL 18/03/2020 (Morning)

(a) ` 2,000 (b) ` 2,500

(c) ` 1,500 (d) ` 1,750

TIME,SPEED AND DISTANCE

BASED QUESTIONS

30. A person went to Delhi to Agra. He
covered some distance by bus and
remaining distance by train. He covered
complete distance which is 360 km in 6
hours. Average speed of bus is 48 km/h
and average speed of train is 120 km/h.
Find distance covered by train.

https://t.me/mathsbyadityaranjan
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,d O;fÙkQ fnYyh ls vkxjk x;kA mlus dqN nwjh cl
ls vkSj 'ks"k nwjh Vªsu ls r; dhA mlus iwjh nwjh r;
dh tks fd 6 ?kaVs esa 360 fdeh gSA cl dh vkSlr
xfr 48 fdeh@?kaVk vkSj Vªsu dh vkSlr xfr 120
fdeh@?kaVk gSA Vªsu }kjk r; dh xbZ nwjh Kkr dhft,A
(a) 120 (b) 240

(c) 360 (d) 180

31. A car travel 20 km/h for 30 min and at x
km/h for 45 min. If the average speed of
the car for entire journey is 14 km/h find
the value of x

,d dkj 20 fdeh@?kaVk ls 30 feuV pyrh gS rFkk
x fdeh-@?kaVk dh pky ls 45 feuV pyrh gSA ;fn
iwjh ;k=kk ds fy, dkj dh vkSlr pky 14 fdeh@?kaVk
gS] rks x dk eku crkb,A
(a) 10 km/h

(b) 15 km/h

(c) 12 km/h

(d) 20 km/h

32.  A man covered a distance of 60 km in 5
hour partly by train at 15 km/h and
partly by foot at 10km/h. The distance
covered by train is.

,d vkneh 60 fdeh dh nwjh 5 ?kaVs esa r; djrk
gSA bldk ,d fgLlk Vªsu esa 15 fdeh@?kaVk dh pky
ls rFkk nwljk fgLlk iSny 10 fdeh@?kaVk dh pky
ls r; djrk gS] rks Vªsu ls r; dh xbZ nwjh crkb,A
(a) 45 km

(b) 30 km

(c) 20 km

(d) 40 km

33. A person travels 255 km in 7 hours in two
stages. In the first part of journey, he
travels by bus at the speed of 30km\h.
In the second part of journey, he travels
by train at the speed of 45km\h. How
much distance he travel by bus?

,d vkneh 255 fdeh 7 ?kaVs esa nks pj.k esa ;k=kk
djrk gSA çFke pj.k esa og cl ls 30 fdeh@?kaVk
dh pky ls rFkk nwljs pj.k esa Vªsu ls 45 fdeh@?kaVk
dh pky ls ;k=kk djrk gSA crkb, mlus cl ls fdruh
nwjh r; dh \
(a) 135 km

(b) 145 km

(c) 120 km

(d) 125 km

34. A person travelled 61 km in 9 hours
partly by cycle and partly on foot. Speed
of cycle is 9 km\h and speed of foot is 4
km\h. find the ratio of time travelled by
cycle and foot.

,d vkneh 61 fdeh dh nwjh 9 ?k.Vs esa r; djrk
gS] ftles dqN lkbfdy rFkk dqN iSnyA ;fn lkbfdy
dh xfr 9 fdeh@?kaVk vkSj iSny dh xfr 4 fdeh@?kaVk
gS] rks mlds }kjk lkbfdy vkSj iSny pyus esa fy,
x, le; dk vuqikr crkb, A
(a) 4 : 5 (b) 5 : 4

(c) 2 : 7 (d) 7 : 2

35. A man covered a distance of 220km in 11
hour partly by bus at 14 km\h and partly
by car at 25 km\h. Find what percent of
distance he covered by bus.

,d vkneh 220 fdeh dh nwjh 11 ?kaVs esa r; djrk
gSA dqN fgLlk cl ls 14 fde@?kaVk dh pky ls
rFkk dqN dkj ls 25 fdeh@?kaVk dh pky ls r;
djrk gSA crkb, mlus fdruh izfr'kr dh nwjh cl
ls r; dh\
(a) 31.82% (b) 68.18%

(c) 41.7% (d) 58.33%

PERCENTAGE

(POPULATION BASED QUESTIONS)

36. Population of a town is 1,20,000 . If
number of male increases by 7% and
females increases by 10%, then the
population of town would increase by
9.5%. Find the difference between male
to female population living in that town?

,d dLcs dh tula[;k 1]20]000 gSA ;fn iq#"kksa dh
la[;k esa 7» vkSj efgykvksa dh la[;k esa 10» dh
o`f¼ gksrh gS] rks 'kgj dh tula[;k esa 9-5» dh
o`f¼ gksxhA ml 'kgj esa jgus okys iq#"k ls efgyk
vkcknh ds chp varj Kkr dhft,\
(a) 25000

(b) 80000

(c) 24000

(d) 10800

37. Population of town is 15,000. If number
of male decreases by 10% and number of
female increases by 5% then the
population of town would increase by 600.
Find the number of male in the town.

'kgj dh vkcknh 15]000 gSA ;fn iq#"kksa dh la[;k
esa 10» dh deh gksrh gS vkSj efgykvksa dh la[;k esa
5» dh o`f¼ gksrh gS] rks 'kgj dh tula[;k esa 600
dh o`f¼ gksxhA 'kgj esa iq#"kksa dh la[;k Kkr dhft,A
(a) 1500

(b) 1000

(c) 1400

(d) 1080
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PERCENTAGE

(INCOME EXPENDITURE

BASED QUESTIONS)

38. If the income of a family decreases by 6%
and expenditure decreases by 8% , and its
saving increases by 4%. Find the ratio of
income and expenditure of that family.

;fn ,d ifjokj dh vk; esa 6» dh deh gks tkrh
gS vkSj O;; esa 8» dh deh gks tkrh gS] vkSj mldh
cpr esa 4» dh o`f¼ gksrh gSA ml ifjokj dh vk;
vkSj O;; dk vuqikr Kkr dhft, A
(a) 6 : 5 (b) 2 : 1

(c) 5 : 6 (d) 3 : 1

39. Raghav spends 80% of his income. If his
income increase by 12% and the savings
decrease by 10%, then what will be the
percentage increase in his expenditure?

jk?ko viuh vk; dk 80» [kpZ djrk gSA ;fn mldh
vk; 12» ls c<+ tkrh gS vkSj cpr 10» de gks
tkrh gS] rks mlds O;; esa izfr'kr of̀¼ Kkr djsaA

CGL Mains 11 September 2019

(a) 20.5% (b) 16%

(c) 17.5% (d) 22%

PERCENTAGE

MISCELLANEOUS QUESTIONS

40. There are 2 types coins in a box 25p and
50p. The total money in box is ‘ 42 and
the total number of coins is 120. Find the
number of 25p coins.

fdlh ckWDl esa 25 iSls vkSj 50 iSls ds nks izdkj ds
flDds gSaA ckWDl esa dqy /u ` 42 gS vkSj flDdksa
dh dqy la[;k 120 gSA 25 iSls ds flDds dh la[;k
crkb,A
(a) 72 (b) 48

(c) 52 (d) 60

41. There are 2 types coins in a box 25p and
50p the total money in box is ` 36 and
the total number of coin is 90. If the
number of coins are interchanged then
find the total money.

fdlh ckWDl esa 25 iSls vkSj 50 iSls ds nks izdkj ds
flDds gSaA ckWDl esa dqy /u ` 36 gS vkSj flDdksa dh
dqy la[;k 90 gSA ;fn flDdksa dh la[;k dks vkil
esa cny fn;k tk, rks vc dqy /u fdruk gksxk\
(a) ` 30 (b) ` 35

(c) ` 31.5 (d) ` 40

42. There are 125 middle level employee in
Due North Inc. The average monthly
salary of the middle level employees is
` 5500 and that of the senior level
employees is ` 14000. If the average
monthly salary of all these employees
` 8687.5, find the total number of
employees in the company, if middle and
senior level employees of Due North Inc.
form 80% of their total employees?

Due north daiuh esa eè; Js.kh ds 125 deZpkjh
gSaA eè; Js.kh ds deZpkfj;ksa dk  vkSlr osru
` 5500 gS] tcfd mPp Js.kh ds deZpkfj;ksa dk
vkSlr osru ` 14000 gSA ;fn dqy deZpkfj;ksa dh
vkSlr ekfld osru ` 8687-5 gSA daiuh esa deZpkfj;ksa
dh lka[; Kkr dhft;s ;fn eè; vkSj mPp Js.kh ds
deZpkfj;ksa dh la[;k daiuh ds dqy deZpkfj;ksa dh
la[;k dk 80» gSA
(a) 175 (b) 200

(c) 220 (d) 250

43. A company has undergraduate and
graduate employee. The average salary of
each graduate employee is ` 16550 and
undergraduate employee is ` 11950,
average salary of workers in company is
` 14750 if there are total 575 worker in
company then find out total number of
graduate employee in company?

,d daiuh esa vaMj xzstq,V vkSj xzstq,V deZpkjh gSaA
izR;sd xzstq,V deZpkjh dh vkSlr vk; ‘ 16550 gS]
tcfd vaMj xzstq,V deZpkjh dh vkSlr vk; ` 11950
gSA tcfd deZpkfj;ksa dh vkSlr vk; ` 14750 gSA
;fn daiuh esa dqy deZpkfj;ksa dh la[;k 575 gS rks
daiuh esa xzstq,V deZpkfj;ksa dh la[;k Kkr djsaA
(a) 280

(b) 350

(c) 301

(d) 322

44. The income of A is 50% more than that
of B. If the income of A is increased by
40% and the income of B is increased by
90%, then the percentage increase in
their combined income will be :

A dh vk; B dh vk; ls 50» vf/d gSA ;fn A
dh vk; 40» ls c<+k nh tk, vkSj B dh vk; 90»
ls c<+k nh tk, rks mudh la;qDr vk; esa fdrus izfr'kr
dh òf¼ gksxh\

SSC CGL 6 June 2019 (Morning)

(a) 64

(b) 55

(c) 60

(d) 70
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45. Raghav spends 80% of his income. If his
income increases by 12% and the savings
decrease by 10%, then what will be the
percentage increase in his expenditure?

jk?ko viuh vk; dk 80» [kpZ djrk gSA ;fn mldh
vk; 12» ls c<+ tkrh gS vkSj cpr 10» ls de gks
tkrh gS] rks mlds O;; esa izfr’kr o`f¼ Kkr djsaA

SSC CGL Tier II (11 September  2019)

(a) 20.5 (b) 16

(c) 17.5 (d) 22

46. A spends 65% of his income. His income
has increased by 20.1% and his
expenditure has increased by 25%. His
savings :

A viuh vk; dk 65» [kpZ djrk gSA mldh vk;
20-1» ls c<+ tkrh gS vkSj O;; esa 25» dh o`f¼
gks tkrh gSA mldh cpr gS %

SSC CGL Tier II (12 September  2019)

(a) increase by 11% (b) increase by 5%

(c) Decrease by 5% (d) Decrease by 11%

47.  Monika spends 72% of her income. If her
income increase by 20% and savings
increase by 15%, then her expenditure
increase by (correct to 1 decimal place)

eksfudk viuh vk; dk 72» [kpZ djrh gSA ;fn
mldh vk; 20» c<+ tk, vkSj mldh cpr 15»
c<+ tk, rks mlds O;; esa fdrus dh o`f¼ gksxh\
(,d n'keyo LFkku rd lgh)
(a) 20.8% (b) 20.2%

(c) 21.9% (d) 19.8%

48. A student answered 
2

3
rd of total

questions. 60% right. How much percent
he should answer rest questions right so
that he may get 70% marks in
examination.

,d Nk=k us dqy ç'uksa esa ls 
2

3
dk mÙkj fn;kA 60»

lghA mls 'ks"k ç'uksa dk fdrus çfr'kr lgh mÙkj
nsuk pkfg, rkfd og ijh{kk esa 70» vad çkIr dj
ldsA
(a) 25% (b) 60%

(c) 80% (d)  90%

WEIGHTED AVERAGE BASED

QUESTIONS

49. The average marks of two classes M and
N are 25 and 40 respectively and the
overall average is 30. The ratio of the
students of classes M and N is :

nks d{kkvksa M rFkk N ds vkSlr vad Øe'k% 25
rFkk 40 gS vkSj izkIr lexz vkSlr 30 gSA d{kk M

rFkk N ds Nk=kksa dk vuqikr gS %
SSC MTS 9 August 2019 (Evening)

(a) 2 : 1 (b) 5 : 6

(c) 1 : 2 (d) 5 : 3

50. In a company with 600 employees, the
average age of male employees is 42 years
and that of female employees is 41 years.
If the average age of all the employees in
the company is 41 years and 9 months,
then the number of female employees is :

600 deZpkfj;ksa okyh daiuh esa iq#"k deZpkfj;ksa dh
vkSlr vk;q 42 o"kZ gS vkSj efgyk deZpkfj;ksa dh
vkSlr vk;q 41 o"kZ gSA ;fn daiuh esa lHkh deZpkfj;ksa
dh vkSlr vk;q 41 o"kZ vkSj 9 eghus gS] rks efgyk
deZpkfj;ksa dh la[;k gS %

SSC CHSL 16/10/2020 (Morning)

(a) 150 (b) 250

(c) 450 (d) 350

51. The average of 21 data is 36 out of which
the first 12 data are having an average of
15. The average of the rest 9 data is :

21 vkadM+ksa dk vkSlr 36 gS ftlesa ls igys 12
vkadM+ksa dk vkSlr 15 gSA 'ks"k 9 vkadM+ksa dk vkSlr gS %

SSC MTS 14 August 2019 (Evening)

(a) 87 (b) 65

(c) 64 (d) 50

52. The average weight of 16 boys in a class
is 60.25 kg and that of the remaining 10
boys is 45.75 kg. The average weight of
all boys in the class is :

fdlh d{kk esa 16 yM+dksa dk vkSlr otu 60-25
fdxzk gS rFkk 'ks"k 10 yM+dksa dk vkSlr otu 45-75
fdxzk- gSA bl d{kk esa lHkh yM+dksa dk vkSlr otu
D;k gksxk\

SSC CPO 16 March 2019 (Evening)

(a) 56.27 (b) 55.37

(c) 54.67 (d) 53.76

53. In a class of 50 students, 46% are girls
and the remaining are boys. The average
of the boys marks is 58 and that of the
girls is 62. What are average marks of the
whole class?

50 Nk=kksa dh ,d d{kk esa 46» yM+fd;k¡ gSa rFkk 'ks"k
yM+ds gSaA yM+dksa ds vadksa dk vkSlr 58 gS rFkk
yM+fd;ksa ds vadksa dk vkSlr 62 gSA iwjh d{kk dk
vkSlr vad Kkr djsaA

SSC CGL 11 June 2019 (Evening)

(a) 59.84 (b) 60.65

(c) 60.38 (d) 60.12
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54. The number of students in classes A and
B are 60 and 70, respectively. The
average score in mathematics of students
in B is 57 and that of all students in A
and B is 63. What is the average score of
students in A?

d{kk A vkSj B esa Nk=kksa dh la[;k Øe'k% 60 vkSj
70 gSA B esa xf.kr esa Nk=kksa dk vkSlr vad 57 rFkk
A vkSj B ds lHkh Nk=kksa dk xf.kr esa vkSlr vad
63 gSA A ds Nk=kksa dk vkSlr vad Kkr djsaA

SSC MTS 22 August 2019 (Afternoon)

(a) 69 (b) 70

(c) 68 (d) 71

55. In a class of 60 students, 40% are girls.
The average weight of the whole class is
59.2 kg and the average weight of the
girls is 55 kg. What is the average weight
of the boys?

60 Nk=kksa dh ,d d{kk esa 40» yM+fd;k¡ gSaA iwjh
d{kk dk vkSlr otu 59-2 fdxzk gS vkSj yM+fd;ksa
dk vkSlr otu 55 fdxzk gSA yM+dksa dk vkSlr otu
Kkr djsaA

SSC CGL 12 June 2019 (Afternoon)

(a) 63 kg (b) 60 kg

(c) 61 kg (d) 62 kg

56. The average weight of 8 gold cons is 20
gram per coin. The average weight of 12
coins of silver is 35 gram per coin. What
is the average weight per coin for 2
coins?

8 lksus ds flDdksa dk vkSlr 20 xzke izfr flDdk
gSA pk¡nh ds 12 flDdksa dk vkSlr Hkkj 35 xzke izfr
flDdk gSA 2 flDds ds fy, izfr flDdk vkSlr Hkkj
fdruk gS\

SSC MTS 2 August 2019 (Afternoon)

(a) 25 g (b) 29 g

(c) 21 g (d) 31 g

57. In a class of 80 students, 60% participate
in games and the rest do not. The average
weight of the former group is 5% more
than that of the latter. If the average

weight of all the students is 
1

51
2

 kg, then

what is the average weight (in kg) of the
former group?

80 Nk=kksa dh ,d d{kk esa 60» [ksyksa esa Hkkx ysrs gSa
rFkk 'ks"k [ksyksa esa Hkkx ugha ysrs gSaA igys lewg dk
vkSlr otu nwljs lewg ds vkSlr otu ls 5» vfèkd

gSA ;fn lHkh Nk=kksa dk vkSlr otu 
1

51
2
 fdxzk gS]

rks igys lewg dk vkSlr otu Kkr djsaA
(a) 57.6 (b) 54.5

(c) 60 (d) 52.5

58. The average age of 120 students in a
group is 13.56 years, 35% of the number
of students are girls and the rest are boys.
If the ratio of the average age of boys and
girls is 6.5, then what is the average age
(in years) of the girls?

,d lewg ds 120 Nk=kksa dh vkSlr mez 13-56 o"kZ
gSA Nk=kksa esa 35» yM+fd;k¡ gSa rFkk 'ks"k yM+ds gSaA ;fn
yM+dksa vkSj yM+fd;ksa dh vkSlr mez dk vuqikr 6 % 5
gS] rks yM+fd;ksa dh vkSlr mez (o"kZ esa) fdruh gS\

CGL Tier II (13 September 2019)

(a) 12 (b) 11.6

(c) 10 (d) 14.4

59. In a class of 80 students, the ratio of the
urban to the rural is 5 : 3. In a test, the
average score of the rural students is 40%
more than that of the urban students. If
the average score of all the students is
69, then what is the average score of the
rural students?

80 Nk=kksa dh ,d d{kk esa] 'kgjh vkSj xzkeh.k dk
vuqikr 5 % 3 gSA fdlh ijh{kk esa] xzkeh.k Nk=kksa ds
vkSlr vad 'kgjh Nk=kksa ds vkSlr vad ls 40» vfèkd
FksA ;fn lHkh Nk=kksa ds vkSlr vad 69 gSa] rks xzkeh.k
Nk=kksa ds vkSlr vad Kkr djsaA

SSC CHSL 3 July 2019 (Evening)

(a) 80 (b) 76

(c) 92 (d) 84

60. The number of students in section A and
section B of the class are 40 and 52
respectively. The average score in
mathematics of all the students is 75. If
the average score of the students in A is
20%, more than that of students in B,
then what is the average score of students
in B?

d{kk A vkSj d{kk B ds Nk=kksa dh la[;k Øe'k% 40
vkSj 52 gSA lHkh Nk=kksa ds xf.kr esa vkSlr Ldksj 75
gSA ;fn A esa Nk=kksa dk vkSlr vad B esa Nk=kksa dh
rqyuk esa 20» gS] rks B esa Nk=kksa dk vkSlr Ldksj
D;k gS\

SSC CGL 2019 Tier II (16/11/2020)

(a) 65 (b) 63

(c) 71 (d) 69

61. The average score in Mathematics of 90
students of section A and B of class IX
was 63. The number of students in A were
10 more than those in B. The average
score of students in A was 30% more than
that of students in B. The average score
of students in B is :
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d{kk IX ds lsD'ku A vkSj B ds 90 Nk=kksa dk
xf.kr esa vkSlr Ldksj 63 gSA A esa Nk=kksa dh la[;k
B ls 10 vf/d FkhA A esa Nk=kksa dk vkSlr vad B
ds Nk=kksa dh rqyuk esa 30» vf/d FkkA B esa Nk=kksa
dk vkSlr vad gS %

SSC CGL 2019 Tier II (15/11/2020)

(a) 60 (b) 54

(c) 50 (d) 56

62. The total number of students in section
A and B of a class is 110. The number of
students in section A is 10 more than
that of section B. The average score of the
students in B, in a test is 20% more than
that of students in A. If the average score
of all the students in the class is 72, then
what is the average score of the students
in A?

fdlh d{kk ds [kaM A vkSj B ds Nk=kksa dh dqy
la[;k 110 gSA [kaM A esa Nk=kksa dh la[;k [kaM B ds
Nk=kksa dh la[;k ls 10 vf/d gSA fdlh ijh{kk esa B
ds Nk=kksa ds vkSlr izkIrkaad A ds Nk=kksa ds vkSlr
izkIrkad ls 20» vf/d gSA ;fn lHkh Nk=kksa dk vkSlr
izkIrkad 72 gS] rks A ds Nk=kksa dk vkSlr izkIrkad
Kkr djsaA

SSC CGL 7 June 2019 (Afternoon)

(a) 66 (b) 68

(c) 63 (d) 70

63. The total number of students in class A
and B is 96. The number of students in
A is 40% more than that in B. The
average weight (in kg) of the students in
B is 50% more than that of the students
in A. If the average weight of all the
students in A and B taken together is 58
kg, then what is the average weight of the
students in B?

d{kk A vkSj B ds Nk=kksa dh dqy la[;k 96 gSA A

ds Nk=kksa dh la[;k B ds Nk=kksa ls 40» vf/d gSA B
d{kk ds Nk=kksa ds vkSlr otu A ds Nk=kksa ds vkSlr
otu ls 50» vf/d gSA ;fn A vkSj A nksuksa ds
Nk=kksa dk dqy vkSlr otu 58 fdyksxzke gS] rks B

ds Nk=kksa dk vkSlr otu Kkr djsaA
SSC CHSL 2 July 2019 (Evening)

(a) 72 kg (b) 60 kg

(c) 48 kg (d) 66 kg

64. There are 96 students in a class, out of
which the number of girls is 40% more
than that of the boys. the average score
in mathematics of the boys is 40% more
than the average score of girls. If the
average score in mathematics of all the

students is 63, then what is the average
score of the girls in mathematics?

,d d{kk esa 96 Nk=k gSa] ftuesa ls yM+fd;ksa dh
la[;k yM+dksa dh la[;k ls 40» vf/d gSA yM+dksa
dk xf.kr esa vkSlr izkIrkad yM+fd;ksa ds vkSlr izkIrkad
ls 40» vf/d gSA ;fn xf.kr esa lHkh Nk=kksa dk
vkSlr izkIrkad 63 gS] rks xf.kr esa yM+fd;ksa dk vkSlr
izkIrkad Kkr djsaA

SSC MTS 22 August 2019 (Evening)

(a) 51 (b) 54

(c) 55 (d) 57

65. In a class, the number of girls is 60%

more than that of boys. the average

weight of the boys is 2.6 kg more than

that of girls. If the average weight of all

the boys and girls is 50 kg, then find the

average weight (in kg) of girls?

,d d{kk esa] yM+fd;ksa dh la[;k yM+dksa dh la[;k
ls 60» vf/d gSA yM+fd;ksa dh rqyuk esa yM+dksa dk
vkSlr otu 2-6 fdxzk vf/d gSA ;fn lHkh yM+dksa
vkSj yM+fd;ksa dk vkSlr otu 50 fdxzk gS] rks
yM+fd;ksa dk vkSlr otu (fdxzk esa) fdruk gS\
(a) 48.8 (b) 49.2

(c) 49 (d) 48

66. In a class of 100 students, the average

weight is 30 kg. If the average weight of

the girls is 24 kg and that of the boys is

32 kg, then what is the number of girls

in the class?

100 Nk=kksa dh ,d d{kk esa] vkSlr otu 30 fdxzk
gSA ;fn yM+fd;ksa dk vkSlr otu 24 fdxzk gS vkSj
yM+dksa dk 32 fdxzk gS] rks d{kk esa yM+fd;ksa dh
la[;k D;k gS\
(a) 25 (b) 26

(c) 27 (d) 28

67. Rita buys 5 sarees at an average cost of

` 2250. If she buys three more sarees at

an average cost of ` 2750, what will be

the average (in `) of all the sarees she

buys?

jhrk us ` 2250 esa vkSlr ewY; ls 5 lkfM+;ka •jhnhA
;fn mlus rhu vkSj lkfM+;ka ` 2750 ds vkSlr ewY;
ls •jhnh rks lHkh lkfM+;ksa dk vkSlr ewY; (` esa)
D;k gksxk\
(a) 2437.5

(b) 2500

(c) 2450

(d) 2332.5
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BOWLING AVERAGE BASED

QUESTIONS

68. Average run per wicket of a bowler is
11.5. In his next inning bowler took 5
wickets and conceded 40 run, thereby he
reduced his bowling average by 0.5. Find
the total number of wickets.

,d xsanckt dk vkSlr ju çfr fodsV 11-5 gksrk gSA
viuh vxyh ikjh esa xsanckt us 5 fodsV fy, vkSj
40 ju fn,] ftlls mlus vius xsanckth vkSlr esa
0-5 dh deh dhA fodsVksa dh dqy la[;k Kkr dhft,A
(a) 25 (b) 35

(c) 24 (d) 23

69. A cricketer whose bowling average is 12.4
runs per wicket takes 5 wickets for 26
runs and thereby decreases his average by
0.4 . Find total runs scored by him ?

,d fØdsVj ftldk xsanckth vkSlr 12-4 ju çfr
fodsV gS] 26 ju nsdj 5 fodsV ysrk gS vkSj bl
rjg mldk vkSlr 0-4 de gks tkrk gSA mlds }kjk
cuk, x, dqy ju Kkr dhft,\
(a) 2500 (b) 1050

(c) 2400 (d) 1080

MISCELLANEOUS

70.  If a man sells a pen at 21% profit and
pencil at 48% profit, he earns ` 1890 as

profit. But if he sells the pen at 
21

4
%

profit and pencil at 15% loss then he
bears no profit no loss. Find the cost
price of the pen and pencil ?

;fn ,d O;fDr 1 isu dks 21» ij csprk gS rks
` 1890 dk ykHk dekrk gSA ysfdu ;fn og isu dks
21

4
% ykHk vkSj isafly dks 15» gkfu ij csps rks

mls u rks ykHk gksxk u gkfuA isu vkSj isafly dk Ø;
ewY; Kkr djsaA
(a) 10000, 4200

(b) 4000, 1400

(c) 5000, 1750

(d) 6000, 2100

71. A shopkeeper sells 3 items X, Y and Z
incurs a loss of 21%, 19% and 3%
respectively. The overall loss % on selling
X and Y items is 20.66% and that of Y
and Z items is 11%. Find the overall
loss% on selling three items?

,d nqdkunkj rhu oLrqvksa X, Y vkSj Z dks cspus
ij Øe'k% 21»] 19» vkSj 3» dh gkfu gksrh gSA
;fn X vkSj Y ij dqy 20-66» rFkk Y vkSj Z ij
dqy 11» dh gkfu gqbZ rks rhuksa oLrqvksa ij gqbZ dqy
gkfu » Kkr djsaA
(a) 13.12% (b) 16.16%

(c) 18.14% (d) 19.27%

72.  A shopkeeper sells three items X, Y and

Z and incurs a profit of 16%, 19% and

28% respectively. The overall profit %

selling X and Y items is 17% and that of

Y and Z items is 22.25%. Find the overall

profit % on selling the three items?

,d nqdkunkj rhu oLrqvksa X, Y vkSj Z dks csprk
gS vkSj mls Øe'k% 16»] 19» vkSj 28» dk ykHk
gksrk gSA ;fn X vkSj Y ij dqy 17» rFkk Y vkSj
Z ij dqy 22-25» dk ykHk gqvk gks rks rhuksa oLrqvksa
ij gqbZ dqy ykHk Kkr djsaA
(a) 18.74% (b) 16.24%

(c) 20.25% (d) 13.24%

73. Two types of sugar worth ` 42 per kg and

`  46 per kg are mixed together with a

3rd variety of sugar in the ratio 3 : 3 : 9.

If the mixture is worth ` 47 per kg ,then

the price of 3rd variety sugar per kg?

` 42 izfr fdxzk vkSj ` 46 izfr fdxzk ds nks izdkj
ds phfu;ksa dks ,d rhljs izdkj ds phuh ds lkFk
vuqikr 3 % 3 % 9 esa fefJr fd;k x;kA ;fn ifj.kkeh
feJ.k dk ewY; ` 47 izfr fdxzk gS rks rhljs izdkj
ds phuh dk izfr fdxzk ewY; D;k gS\
(a) 45 (b) 49

(c) 44 (d) 50

74. A shopkeeper mixes 3 varieties of rice

costing ` 20/kg , ` 24/kg and ` 30/kg and

sells the mixture at a profit of 10% at

` 27.5. How many kg of the 2nd variety

will be in the mixture if 2kg of the 3rd

variety is there in the mixture?

,d nqdkunkj pkoy dh rhu fdLeksa ` 20 izfr fdxzk]
` 24 izfr fdxzk vkSj ` 30 izfr fdxzk dk feJ.k
djrk gS vkSj feJ.k dks 10» ds ykHk ij ` 27-5
izfr fdxzk ij csprk gSA ;fn feJ.k esa rhljh fdLe
ds 2 fdxzk- pkoy gS rks nwljh fdLe ds fdrus fdxzk-
pkoy feJ.k esa gksaxs\
(a) 1

(b) 3

(c) 5

(d) 6
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1. (c) 2.(b) 3. (a) 4. (a) 5. (a) 6. (c) 7. (b) 8. (c) 9. (a) 10. (a)

11.(d) 12.(a) 13.(d) 14.(a) 15.(c) 16.(c) 17.(d) 18.(a) 19.(c) 20.(b)

21.(b) 22.(b) 23.(c) 24.(d) 25.(d) 26.(c) 27.(b) 28.(d) 29.(a) 30.(a)

31.(a) 32.(b) 33.(c) 34.(b) 35.(a) 36.(b) 37.(b) 38.(a) 39.(c) 40.(a)

41. (c) 42.(d) 43. (b) 44. (c) 45. (c) 46. (a) 47. (c) 48. (d) 49. (a) 50. (a)

51.(c) 52.(c) 53.(a) 54.(b) 55.(d) 56.(b) 57.(d) 58. (b) 59. (d) 60. (d)

61. (b) 62.(a) 63. (a) 64. (b) 65. (c) 66.(a) 67.(a) 68.(b) 69.(d) 70.(c)

71. (c) 72.(a) 73. (b) 74. (c)

Answer Key
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